MA205 Integral Caleuls and

Introduction to Differential Brpiations

Lll_u('h;mivs Based Pi'()hlnmﬂ

1. An aguarium 2o foug. T wide. and im deep is full of w

ater. Find the work needed to pump half of the wator
out of the aquari. Use the fact that wator las o d

ensity of 1000 &g /ins.

2. A circular swhuming pool has o diamneter of 24 .
How mucl: work is required to puwnp all of the w
ponuds per cubic foot.

the sides are 5 £ high and the depth of the water is 4 ft.
ater out over the side? Use the fact that water weighs (2.5
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| Problem Solving Droblems [

Lo A spherical tauk of radins & & is half full of oi] that weighs 50 pounds per cublie foot, Find the work to pump
oif out through a hole in top of the tank.

[

A gas tank lias a trapezoldal cross section as shown below and is 5 feet wide, How mnuch work does the engine
do in pumping the gas out of the top of the tauk if fucl weighs approximately 50,0 pounds per cubic foot.
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3.0 A eyvlindrical water tank 4 meters high with a rading of 2 meters is buried so that #is 1 meter below the
ground, How nmch work s done i primping a full tank of water up to ground level? Water weighs 9800
Newtons per cubie meter,
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